April, 2012

NIKING

REPLACEMENT PARTS

DELUGE VALVE
MODEL D-5

3” (DN80), 4” (DN100), 6” (DN150)

V414 NPT

D

Threads

10

00
\\\.

E

A”-14 NPY
Threads

S—— e s T B

V214 NPT
Threads

4

Manufactured

3” 1974 - 1985
4” 1973 -1985
6" 1972 -1984

// 722
v-14 NPT Ll
% %‘_‘ ' % | 4 ,,..} 2°-11% NPT Threads NOTE: _l\/l(_)del D-5 Clapper Assembly
‘.,} 17-11% NPT Threads - ?J ¥ 1% NPT Thresds is interchangeable with Model
3" %“-14NPY Threads N 7 D-4 clapper. The rubbers
v ! %7//3 are bonded to the clapper on
. ! Model D-4. Use Model D-5
e ————————— A ———————1 Clapper Assembly for replace-
ment.
Valve Size A B C D E F
3" (DN75) 7" 5" 3-3/4" 12-3/8" 10-3/4" 5-3/8"
(177,8 mm) (127 mm) (96,8 mm) (314,3 mm) (273 mm) (136,5 mm)
4" (DN100) 8-1/2" 6-1/2" 4-3/4" 15-1/2" 14" 7"
(215,9 mm) (165 mm) (120,6 mm) (393,7 mm) (335,6 mm) (177,8 mm)
6" (DN150) 12" 8" 5-7/8" 21-1/8" 8-1/4" 9-1/8"
(304,8 mm) (203 mm) (149,2 mm) (536,5 mm) (209,5 mm) (231,7 mm)
ITEM PART NUMBER NO. REQ'D
NO. " 4" " DESCRIPTION MATERIAL 3" 4" "
(DN8O0) |(DN100)| (DN150) (DN80) |(DN100)|(DN150)
1 - - -- Body Cast Iron 1 1 1
2 02492C | 02377B 01974C Diaphragm Rubber EPDM 1 1 1
3 -- -- - Cover Cast Iron 1 1 1
4 02493B | 02378B 05704B Clamp Ring Bronze UNS-C84400 1 1 1
5 08846N | 08844N 08570N Clapper Ductile Iron 65-45-12 Teflon Coated 1 1 1
02494A Screw, R.H.P. 10-24 X 1/2" Stainless Steel UNS-S30400 6
6 02383A Screw, H.H.C. 5/16-18 X 1/2" | Stainless Steel UNS-S30400 8
01977A Screw, F.H.S. 3/8-16 X 3/4" Stainless Steel UNS-S30400 12
7 01923A Screw, H.H.C. 3/4-10 X 1-1/2"| Steel 8
13576 13576 Screw, H.H.C. 3/4-10 X 1-3/4"| Steel 10 15
8 02497B | 02382B 02176B Seat Rubber EPDM / Stainless Steel 1 1 1
9 -- -- -- Seat Bronze 1 1 1
02496A Screw, H.H.C. 10-24 X 3/8" Stainless Steel UNS-S30400 6
10 02383A Screw, H.H.C. 5/16-18 X 1/2" | Stainless Steel UNS-S30400 8
07932 Screw, H.H.C. 3/8-16 X 1/2" Stainless Steel UNS-S30400 12
--Indicates no replacement part available
SUB-ASSEMBLY
28’,41‘8’ 02491B | 023768 |R84023158| Clapper Assembly






